
3,4 5

  35.5           37.5              74.5       75   
∆𝑃𝑄𝑅 ∠𝑃𝑅𝑄
i PQ2 >PR2+QR2 

ii PQ2 >PR2+QR2 
iii PQ2 =PR2+QR2 

 i      ii       i  iii       ii    iii     i ,ii  iii 
5 

    4.62          5.77           6.51           7.21 
 15 

  337.5           377.5       431.5       456.5   
∆𝐴𝐵𝐶 AD BE O
AD: OD
 2:1            3:1            1:3           1:2 

 3:2             2:3           4:3         3:4   

                                   

   2:1          1:2            2:3          3:2  

BD AB
   BC           CD            DB         AD  

AB2

 AC2+BC2-BC.CD             
    AC2+BC2+BC.CD         
    AC2+BC2-2BC.CD          
    AC2+BC2+2BC.CD   

                                   
∆ ABC A BC AD

 AB2+AC2=(AD2+BD2)     
     AB2+AC2=2(AD2+BD2)      

 AB2+AC2=2(AD2-BD2)     
  AB2+AC2=(AD2-BD2)  

                          
x2-4x+3=0
    2           3           4          5 

3x2-7x+2=0
  2            4          6          8  

                        
                   

x2-8x+16=0
                                     

ax2+bx+c=0 i a ≠ 0
ii b2-4ac   iii

 i      ii       i  iii       ii    iii     i ,ii  iii 

px2-6x+9=0
0 p

  0            1           2          3  
x y x+y

  
଺

௣
           

௣

଺
            6          9  

bx2+ax+c=0

  a2-4ac>0           a2-4bc<0      
     a2-4bc=0            a2-4bc>0  

A={x∈ 𝑍, 4 ≤ 𝑥ଶ ≤ 25} A
  4            16           32           256 
{ x: x2 +6x+8=0} 
  {2,4}       {-2,4}       {2,-4}       {-2,-4}   

U A= {1,2} B={3}
(𝐴 ∩ 𝐵)ᇱ

   A             B          U         A∪B  
A/, A A∩ 𝐴ᇱ

   U           {}          A           A/  
n

   2n+1           2n -1        2n+2          2n-2   
U={1,3,5,6}, A={3,6} 𝑃(𝐴ᇱ)

   1          2           4           8  

 

Home PC
Typewriter
(30 wgwbU)



   0              1          2       3   
P Q P-Q
   P            Q          {}         U   
n(A) =7,n(B)= 4 n(A∩ 𝐵) = 5

     n(A∪ 𝐵) =
    2          6           8          16  

BC,CA AB D,E F
3 

(BD2+AD2)=
𝟏

𝟐
(AB2+AC2)

3(AF2+AE2+BD2)=(AD2+BE2+CF2)

i x2-x-13=0
ii A={1,4}, B={a,b}, C={x: x2-5x+6=0} 

x2-7x+6=0
i
ii  𝐴 × (𝐵 ∪ 𝐶) = (𝐴 × 𝐵) ∪ (𝐴 × 𝐶)
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